PRACTICE PROBLEMS				NAME  ____________________________





WORKING WITH DECIMALS











1.2883  + 32.45  = 











0.38745 + 625.985  = 











4.13 – 3.064 = 











253.9 – 43.101 = 











8.7 X 0.003 =











0.43 X 4000 =











4800 / 0.12 = 











0.88 / 0.023














WORKING WITH ORDER OF OPERATION











50 X 5 – 30 = 











30 – 50  X  5 =











90 – {[20 X (8-5)] + 15} = 











128 – {[12 X (3 – 13)] + 18} = 











50 + 10 / 2 = 











27 + 15 / 3 = 











342 – 9 X 2 = 











28 – [4 X (22 – 11)] + 67 = 


